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above is an Analysis of three versions of the last line of this tune—Donald MacDonald’s,
Eﬁgu: MacKay’s and Glen's, the latter being MacKay's Ver_siou with tvao bars_udded. The tune is
clearly of 8 : 8.8. metre, but MacDonald has only seven ba.lrs in the last line of his Gxou{ud ?.s agmpst
eight in his Taorluth. MacKay has only six bars, both in Ground and Taorluth. Glen’s version
bas eight bars in both Ground and Taorluth, but his additions are open fo question.

Before dealing with the completion or correction of the last line it is necessary to point out
that in all versions there is something incorrect in the seventh bar of the Second line. In this positiou

(seventh) the bar, neither Ground nor Taorluth Siogling, can finish with a two-note beat! Every
other bar finishes this way, and the only other possible place, other than the even numbered bars,
where such a two-note beat is permissible, would be in the fifth bar of the last line, for the reason
it is not unusual to find changes of such a kind in the third quarter of a part, especially the last
part. Musically, the second half of the seventh bar would seem to require I} and the following
is probably the correct beat, which it will be noticed, agrees the last half of the: seventh bar of the
other lines. It might be remarked that in MacDonald’s version the first half of
f this seventh bar would be better if made the same as MacKay's. Perhaps the
error in the last half is responsible for MacDonald's first half | Regarding the
singling of Taorluth, this should, of course, consist of two regular Taorluth beats,
B

Coming nougtgi?]e completion or revision of the_last line, E!,ttBDtL.GH' is drawn to the following
points in the analysis. It seems clear that in all versions there is a missing bar after the first two,
{vide remarks as to even numbered bars ending with a two-note beat). Division 3 is therefore left
l\ylank as regards the Ground bars. Placing MacKay's version pgdcr-MacDonald’s. (v_zluch is complete
save for the third bar) makes clear, it is considered, the position of‘the two missing Ground bars
in MacKay (Divisions 3 and 6). It also seems clear that MacKay’s Taorluth bars are correctly
placed in the analysis, for his third bar to take !ourt_h_glace would require to end in a two-note
beat On the other hand his fifth bar is placed in Division 6 because it does not fit the Ground
in Division 8. Tn Divisien 0 it requires to be amended to end with a two-note beat. Glen inserts
two bars (Divisions 6 and 7). That in Division 7 is clearly excess, for his third bar really takes

fourth place and in that position agrees similar bars in the other lines.

The following suggestions for completing and f f
correcting the versions are offered—
MacDowarp.  Division 3.

This seems musically correct and agrees with the Taorluth bar.

——

Mackay,

Division 3.

Other suggestions are-—

The first suggestion is—

! This fits the Taorluth and
1s musically correct and, more-
over, is a play upon the similar
bar in the first line.

F—

For Division 6, which should end i
(the last half bar of which should be th

The following would be musically c

F £

P

These seem musically correct but do not fit the Taorluth,

0
e

a two-note beat, the following would agree
same as the Ground) and would be musicall

",

orrect also-—

The Taorluth for Division 8 shoul
similar bar in the First Line.

GLEN. This version, as alread
7). For reasons already stated we

correct but does not agree MacKay's T
(Division 8).

(the latter as in Glen's version), but would n.

: cannot place Glen's third b
quently clear his sixth bar (Division 7) is wrongly inserted.

ot agree the Taorluth based ou G and E.

d consist of E and D beats, to agree the Ground, as the

y indicated, is MacKay’s with two bars added (Divisions 6 and
ar in the third place and it is conse-

His fifth bar in sixth plac
aorluth (Division 6

) which Glen places as the seventh bar

the Taorluth
¥y correct-—

e is musically
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